

$$\square K^C \sqsubset_{\text{Car}} \mathbb{R} K^C$$

$$\square K^C \sqsubset_{\text{Car}} K^C$$

$$\mathbb{R} \square K^C \sqsubset \left\{ \begin{array}{l} K^C \\ \mathbb{1} K^C \end{array} \right.$$

$$\mathbb{R} \square K^C \ni b = \mathfrak{b} + \mathfrak{b} \Rightarrow \mathfrak{b} \in \mathbb{R} \square K^C \ni \mathfrak{b}: \mathbb{R} K^C \ni \mathfrak{b}$$

$$\mathfrak{b} * \mathfrak{b} + \mathfrak{b} * \mathfrak{b} = \underline{\mathfrak{b} + \mathfrak{b}} * \mathfrak{b} = \underline{\mathfrak{b}} \mathfrak{b} + \underline{\mathfrak{b}} \mathfrak{b} = \underline{\mathfrak{b}} \mathfrak{b} + \underline{\mathfrak{b}} \mathfrak{b} \Rightarrow \mathfrak{b} * \mathfrak{b} = \underline{\mathfrak{b}} \mathfrak{b}: \mathfrak{b} * \mathfrak{b} = \underline{\mathfrak{b}} \mathfrak{b}$$

$$\square K^C = K^C \blacktriangleright \square K^C = \frac{b \in K^C}{b * \square K^C = 0} = \square K^C$$

$$\mathbb{R} \square K^C = \mathbb{R} K^C \blacktriangleright \mathbb{R} K^C = \frac{b \in \mathbb{R} K^C}{b * \square K^C = 0} = \square K^C$$

$$K^C = \square K^C \times \square K^C = \overbrace{\square K^C \times \square K^C}^{\square K^C} \times \square K^C$$

$$\square K^C = \mathbb{R} \square K^C = \frac{\mathbb{1} K^C = \mathbb{R} \square K^C \sqsubset K^C}{\mathbb{1} \in \square K^C} = \square K^C \times \square K^C$$

$$\mathbb{1} K^C = \mathbb{1} \square K^C$$

$$\mathbb{1} \square K^C = \frac{\mathbb{R} \square K^C \sqsubset \mathbb{1} K^C}{\mathbb{1} \in \mathbb{R} \square K^C} = \square K^C \times \square K^C$$

$$\mathbb{R} \square K^C = \mathbb{R} K^C \blacktriangleright \square K^C = \mathbb{R} K^C = \mathbb{R} \square K^C \times \underbrace{\mathbb{1} K^C}_{=0} = \mathbb{R} \square K^C$$

$$\begin{aligned}
{}^{\mathbb{R}}\underline{K}^{\mathbb{C}} &= \underline{K}^{\mathbb{C}} \times \overbrace{\underline{K}^{\mathbb{C}} \times \underline{K}^{\mathbb{C}}}^{\mathbb{R}\underline{K}^{\mathbb{C}}} = \overbrace{\underline{K}^{\mathbb{C}} \times \underline{K}^{\mathbb{C}}}^{\mathbb{R}\underline{K}^{\mathbb{C}}} \times \underline{K}^{\mathbb{C}} \\
&= \overbrace{\underline{K}^{\mathbb{C}} \times \underline{K}^{\mathbb{C}}}^{\underline{K}^{\mathbb{C}}} \times \overbrace{\underline{K}^{\mathbb{C}}}^{\mathbb{R}\underline{K}^{\mathbb{C}}}
\end{aligned}$$

$${}^{\mathbb{R}}\underline{K}^{\mathbb{C}} \ni 1 \Rightarrow \underline{K}^{\mathbb{C}} = \frac{b \in \mathbb{R}\underline{K}^{\mathbb{C}}}{\bigwedge_{b \in \mathbb{R}\underline{K}^{\mathbb{C}}} b \times b = \underline{1}b}$$

$$\underline{K}^{\mathbb{C}} = \frac{\underline{K}^{\mathbb{C}}}{1 \in \underline{K}^{\mathbb{C}}} = \overbrace{\underline{K}^{\mathbb{C}} \times \underline{K}^{\mathbb{C}}}^{\mathbb{R}\underline{K}^{\mathbb{C}}} \times \overbrace{\underline{K}^{\mathbb{C}} \times \underline{K}^{\mathbb{C}}}^{\mathbb{R}\underline{K}^{\mathbb{C}}}$$

$${}^{\mathbb{R}}\underline{K}^{\mathbb{C}} \cap \underline{K}^{\mathbb{C}} = \underbrace{\underline{K} \cap \underline{K}}_{\text{cpt}} \supset \underbrace{\underline{K} \cap \underline{K}}_{\text{non-cpt}} \rightarrow 1$$

$$\underline{K} \cap \underline{K} = \underline{K}$$

$${}^{\mathbb{R}}\underline{K}^{\mathbb{C}} \cap \underline{K} = \underline{K}$$

$$\begin{array}{c}
\mathbb{F}^{\mathbb{R}} \\
\text{co-root} \\
\mathbb{F}^{\mathbb{R}} \blacktriangleright \square_{\perp}^{\mathbb{R}}
\end{array}
= \left\{ \begin{array}{l}
\mathbb{F}^{\mathbb{R}} \blacktriangleright \square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4} \square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4} \notin \langle \square \rangle
\end{array} \right. = \left\{ \begin{array}{l}
\mathbb{F}^{\mathbb{R}} \blacktriangleright \square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4} \in \langle \square \rangle
\end{array} \right. = \left\{ \begin{array}{l}
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4} \square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4}
\end{array} \right. = \left\{ \begin{array}{l}
\mathbb{F}^{\mathbb{R}} \blacktriangleright \square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4}
\end{array} \right. = \left\{ \begin{array}{l}
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4} \square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4}
\end{array} \right.$$

$$\mathbb{F}^{\mathbb{R}} = \square_{\perp}^{\mathbb{R}} = \left\{ \begin{array}{l}
\square_{\perp}^{\mathbb{R}} \\
0_{\square_{\perp}^{\mathbb{R}}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4} \square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4} \in \mathbb{C} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4} \square_{\perp}^{\mathbb{C}} \\
\frac{0}{\square_{\perp}^{\mathbb{R}}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4}
\end{array} \right. = \left\{ \begin{array}{l}
\square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4} \square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4}
\end{array} \right. = \left\{ \begin{array}{l}
\square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4} \square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4}
\end{array} \right. = \left\{ \begin{array}{l}
\square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4} \square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4}
\end{array} \right. = \left\{ \begin{array}{l}
\square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4} \square_{\perp}^{\mathbb{R}} \\
\frac{1}{\square_{\perp}^{\mathbb{R}} \ni 4}
\end{array} \right.$$

$$\text{cpt } \square_{\perp}^{\mathbb{R}} = \square_{\perp}^{\mathbb{R}} \max_{\text{abel}} \mathbb{F}^{\mathbb{R}} = \square_{\perp}^{\mathbb{R}} = \square_{\perp}^{\mathbb{R}} = \square_{\perp}^{\mathbb{R}}$$

$$\bigvee_{\square_{\perp}^{\mathbb{R}}} = 0$$

$$\square_{\perp}^{\mathbb{A}} = \square_{\perp}^{\mathbb{R}} = \mathbb{F}^{\mathbb{R}} \text{ fullbolic}_{\mathbb{R}}$$

$$\bigvee_{\square_{\perp}^{\mathbb{R}}} = 0$$